





UNDER CABINET LIGHTING

RAB Design offers a full line of under cabinet lighting solutions engineered specifically for mounting under tight spaces. Our easy installation process and ultra-slim design make this LED option perfect for residential, commercial and industrial work spaces, offices, hospitality, recreation vehicles and everything in between.

Our product line includes:



UCA Signature Series

Ultra slim fixtures with pivoting mounting bracket for high end residential and commercial applications.



UC120 Line Voltage Series

The UC120 fixtures have an embedded 120V dimmable driver for simple, long run, cost effective installations.



UC/UCT Specialist Series

The UC/UCT Series is available in 24V DC or 12V DC for a range of specialized low voltage applications like boats and recreation vehicles.

Ideal Applications Glass Cabinets Pantries Boats* Recreation Vehicles* Work Walk-in Closets Cove Offices Hospitality Kitchens Applications

Benches



UCM Starter Series

Designed as a slim, modular, cost-effective solution for under cabinet lighting.



UCP2 Puck Light

Slim puck light with flexible in/ out connections to link multiple fixtures in series.

SELL MORE UNDER CABINET LIGHTING WITH OUR NEW DISPLAY!



Display features:

- Showcasing UCA, UC120, UCM, UCP2 product lines
- Small footprint 16" X 24"
- Wall mount or counter top mount

Buy \$2000/- worth of under cabinet lighting products in any assortment and get a 5% discount, plus a free display.



Slat Wall Mount Display Package

Order #000547

- ✓ Display board
- √ Brochures
- ✓ Slat wall brochure holder
- ✓ Slat wall mounting hooks



Counter Top Display Package

Order #000551

- ✓ Display board
- ✓ Brochures
- ✓ Counter top brochure holder

Your RAB Design Rep will refill brochures when they run out.



UNDERCABINET DISPLAY UCM STOCKING PACKAGE

UCM Stocking Package					
Stock Code	Description	Tier 1 Price	Quantity	Total	
090062	UCM-LED8-NW	\$14.95	3	\$44.85	
090058	UCM-LED8-WW	\$14.95	3	\$44.85	
090063	UCM-LED12-NW	\$17.95	3	\$53.85	
090059	UCM-LED12-WW	\$17.95	3	\$53.85	
090064	UCM-LED20-NW	\$24.95	3	\$74.85	
090060	UCM-LED20-WW	\$24.95	3	\$74.85	
090065	UCM-LED40-NW	\$39.95	3	\$119.85	
090061	UCM-LED40-WW	\$39.95	3	\$119.85	
090066	UCM TOUCH DIMMER CONNECTOR	\$4.95	6	\$29.70	
088937	UCA-6W WHT POWER SUPPLY 24V	\$12.08	2	\$24.16	
088938	UCA-24W WHT POWER SUPPLY 24V	\$22.00	2	\$44.00	
088939	UCA-48W WHT POWER SUPPLY 24V	\$33.02	2	\$66.04	
088840	UCA-CONNECTOR CABLE 6" WHT	\$2.15	6	\$12.90	
088940	UCA-CONNECTOR WHT CABLE 1M	\$2.92	6	\$17.52	
088941	UCA-CONNECTOR WHT CABLE 2M	\$4.36	6	\$26.16	
088942	UCA-RCPT DC 4 OUTPUT	\$3.26	2	\$6.52	
088943	UCA-RCPT DC 8 OUTPUT	\$5.46	2	\$10.92	
Total	TOTAL			\$824.72	



UNDERCABINET DISPLAY UC120 STOCKING PACKAGES

UC120 Stocking Package					
Stock Code	Description	Tier 1 Price	Quantity	Total	
089976	UC120-LED12-NW	\$24.95	3	\$74.85	
089980	UC120-LED12-WW	\$24.95	3	\$74.85	
089977	UC120-LED20-NW	\$29.95	3	\$89.85	
089981	UC120-LED20-WW	\$29.95	3	\$89.85	
089978	UC120-LED40-NW	\$44.95	3	\$134.85	
089982	UC120-LED40-WW	\$44.95	3	\$134.85	
089979	UC120-LED60-NW	\$54.95	3	\$164.85	
089983	UC120-LED60-WW	\$54.95	3	\$164.85	
089994	UC120 6" INTERCONNECT CABLE	\$2.15	6	\$12.90	
089995	UC120 12" INTERCONNECT CABLE	\$2.30	6	\$13.80	
089996	UC120 24" INTERCONNECT CABLE	\$2.50	6	\$15.00	
089997	UC120 36" INTERCONNECT CABLE	\$2.95	6	\$17.70	
089998	UC120 60" CORD & PLUG	\$4.95	12	\$59.40	
089999	UC120 60" CORD & PLUG W/SWITCH	\$7.95	12	\$95.40	
089992	UC120 90° INTERCONNECT	\$2.95	6	\$17.70	
089991	UC120 WIRING COMPARTMENT W/60" CORD	\$24.95	2	\$49.90	
	TOTAL			\$1,210.60	

UC120 & UC	M Package
UC120 Package	\$1,210.60
UCM Package	\$824.72
TOTAL	\$2,035.32
Less 5% Discount	(\$101.77)
TOTALCOST	\$1.933.55

Contact your RAB Design Sales Representative today.